Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.
It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

= 'f;d
c=4(s2)

S

C :=163-2%

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 1
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. /
Show how you figured it out. | 2911 turns (
————T
4. >335
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2 ﬁ .ok 4

45351966 /

4. How many times does the small wheel turn when the cycle travels 1 mile? /
Give your answer to the nearest 10 turns. j
Show how you figured it out. I,1 21 turns
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 2

(A mile is 1760 yards.) V X
Give your answer to the nearest 10 turns. ! ‘
Show how you figured it out. % 2 Times O

C = |63'28
: = 2233
5280716228 = 2222

0

4. How many times does the small wheel turn when the cycle travels 1 mile? X
Give your answer to the nearest 10 turns. i
Show how you figured it out. q 5 -hm € 5

C =:5280°5&52~93.H72
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Historic Bicycle

This problem gives you the chance to: ‘ ’ 3
« work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? \/ l

Show how you figured it out. !ggb . ﬁb inches
C=m Q& d=5B82

C=1m-%2
C=2163.3,28\8

2. How far would you travel in one turn of the big wheel? 7
Give your answer in feet and inches. g ¥
Show how you figured it out. v ‘ [ D feet (o inches O
\65 . B62LR\B = \2 . |
! A
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3. How many times must the cyclist turn the big wheel to travel 1 mile?
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.
Show how you figured it out.

- T3
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280 - 5.6 ‘
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4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out.
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

52xTT = 143.3 259

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

[63.362818 R/> 13.G 1356817
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3. How many times must the cyclist turn the big wheel to travel 1 mile? ~ l 4
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. | ’5 o/ 1_ (:; 9 O
h

Show how you figured it out.

/3.0135&5/7 s |34 2 7pQq. 7&?%61
(1)

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

X
Show how you figured it out. 3 70 Jgf [ S 0

4. 71255998 x b 374 = 1744.433474,;
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Historic Bicycle

This problem gives you the chance to: I 5

» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.

)

It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? /
Show how you figured it out. \63 . % inches

1 used Mneequution olrvre o>

c=%b ant e\«ﬂ\. S2L '\hg\‘\ Xhe \/
Bamere ¢ nkothed W ener

2. How far would you travel in one turn of the big wheel? ‘/ /
Give your answer in feet and inches. 3
Show how you figured it out. 'S feet z inches

T avded o3 bY 12 wndn cgf— tﬂg\-\oumanY
Leoe pndxverevnaneC go'c vadlrtAnthes,
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3. How many times must the cyclist turn the big wheel to travel 1 mile? l 5
(A mile is 1760 yards.) ‘ ’ -
Give your answer to the nearest 10 turns.

- Show how you figured it out. A \ Aed qwhm O
RS ieh17¢0 by D xen din
”\;;AB icca%mm{fs how o€
Lo %.wktaﬁi i ns oncl

/A ‘CE

Give your answer to the nearest 10 turns.

4. How many times does the small wheel turn when the cycle travels 1 mile?- /
Show how you figured it out. wins {

I/
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Historic Bicycle

This problem gives you the chance to: S 1
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? \/
Show how you figured it out. ] (0—5 ’ 7-% inches

Cz= '("62. 213,23 /

2. How far would you travel in one turn of the big wheel? - S
Give your answer in feet and inches. ;
Show how you figured it out. | 5 feet q‘ Z.? inches !

16%.2%

s

2 / |
558 4
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3. How many times must the cyclist turn the big wheel to travel 1 mile? S 1
(A mile is 1760 yards.) . /

Show how you fgwed tout W 588 times |
s CEH0MD
130 3.28im
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4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. 4,1 f“ﬁM\e\: ‘ \L@ {“lﬂ/‘\QS

- % G180 <552
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Historic Bicycle
This problem gives you the chance to: 82

» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out. \b 54 inches !

0 : nl52)
0034

2. How far would you travel in one turn of the big wheel? / :
Give your answer in feet and inches. \ ' X
Show how you figured it out. ?) feet inches O

\62.4 47 e
o | }
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3. How many times must the cyclist turn the big wheel to travel 1 mile?
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.
Show how you figured it out.

S2

410 s O

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out.

2640 Kw r\g?

C e\
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Historic Bicycle
This problem gives you the chance to: SS

» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

LN

Basil saw a strange old bicycle at the museum.

It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? - ) 63 ,% 5 /

Show how you figured it out.

On the colevlador, 5277;- V62 26 /

2. How far would you travel in one turn of the big wheel? S : /
Give your answer in feet and inches. \ /
Show how you figured it out. l 3 feet 7 inches

nif

)| 213 )56

'7 le€y over / / i‘
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3. How many times must the cyclist turn the b1g wheel to travel 1 mile? 83
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.

Show how you figured it out. | %8 é ‘}Uf‘ ns I
'7_;,);.'.‘55 Qre m}le=5250 4+

52804 1%.6%¢ 345 .8 - .

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns. X
Show how you figured it out. ‘ \33 '}Uf ns O

& = 5654 y
2448 7 41811724 66"
8.‘\3‘;40‘}&'! / 1

£280= 4.66% /33
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Historic Bicycle

This problem gives you the chance to: S4
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? \ (’ 3 ,L ‘6 /

Show how you figured it out. inches

2. How far would you travel in one turn of the big wheel?

Give your answer in feet and inches. \/
\ 3 feet l inches ,

Show how you figured it out.
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3. How many times must the cyclist turn the big wheel to travel 1 mile?
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.
Show how you figured it out.

34\, | s

i

118

011760

~1b

~10 -
o

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out.

120
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Historic Bicycle

This problem gives you the chance to: S 5
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

,3'\1& N y
pie © t ' e

A .

1. What is the circumference of the big wheel?
Show how you figured it out. 3 . 2 inches

2,14

N |
]5,3-28

2. How far would you travel in one turn of the big wheel? /
Give your answer in feet and inches. X O
Show how you figured it out. 13 feet é inches

P

2fie3. 28 7,
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3. How many times must the cyclist turn the big wheel to travel 1 mile? 85
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. f d
Show how you figured it out. 3 2— ‘hﬂ? ‘e_S O

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns. O
Show how you figured it out. '/ q 3 ﬁ MCjJ

|f¢
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

!

C:3.14-52
: %

c = Ar(d)

2. How far would you travel in ogg turn of the big wheel?

"

C = |b32®

163.10
T 12 e
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3. How many times must the cyclist turn the big wheel to travel 1 mile? 6 3 ’5 6 § 6

(A mile is 1760 yards.)
6> "f‘ -ﬁm\s

Give your answer to the nearest 10 turns.
Show how you figured it out.

2 feet = | Yﬂfd

006"

o et yard
I¥60 (3360 [ Miles 1760
ind\es ywr{s

| H
632

Y S
6 ® 0

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns.
Show how you figured it out. ' 2 6 % 0

—

\\
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Historic Bicycle
This problem gives you the chance to: S 7

« work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the ci fe f the big wheel?
Show how you figured it out, - [LD BLIRIE inches
C=yd
=157 752=1L525723\%

C=WDbBLsls S

2. How far would you travel in one turn of the big wheel? / /
Give your answer in feet and inches.

Show how you figured it out. l > feet 7 Q gchhes
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3. How many times must the cyclist turn the big wheel to travel 1 mile? S 7
(A mile is 1760 yards.)

Give your answer to thc? nearest 10 turns. Eq O / {

Show how you figured it out.

— = 55%="T7\n

|7 (06 5= 628(3 d
. Iy 340 4ue
5555 = Poughl ”

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns. l l ’2) D / I

Show how you figured it out.

b:ra whheel d.

oL _ 7 s53558589
| & l
sell uhel d

?)Cfo Prrount ot tuers 0 e Lr

brgl whee|

200+7 558888839 = | 2L . Lblo
. chur\é o
B0 duens
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Historic Bicycle

This problem gives you the chance to: 88
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?

Show how you figured it out. \(QS . a3 inches ’

T oided] € oy 59 ohen s e Gemafer
P

2. How far would you travel in one turn of the big wheel? /&/&,
Give your answer in feet and inches. / v
Show how you figured it out. B feet \7 inches

T cQ\o\&e.Q I3 \oy 12 andl %03‘ [ 3. 5%
V%
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3. How many times must the cyclist turn the big wheel to travel 1 mile? 8
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.
Show how you figured it out.

29
T wulbpied PO oy 2 andd @o\‘ 5300 ﬁ
Then Qisdd) St oy 13.5% arnd! 3@9 3% . 30,

% Z

4. How many times does the small wheel turn when the cycle travels 1 mile? oy
Give your answer to the nearest 10 turns.
Show how you figured it out. ‘a 40 +um5 O

‘I &M our Ve c}mm@m, Caosc Jhe_ 2&*
ond. }nc.\\e.s% &i& %mw;%ti &idl &r
+ 2

=
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.
It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

Tr(52)
2462) ,
|63, 8

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

UW\ T35 =[2.0060 S
V V632 N\
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3. How many times must the cyclist turn the big wheel to travel 1 mile? Sg
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. Z—l L 0 X O

Show how you figured it out.

4.3
| o™,
Preen A3 \36‘3‘ 4 \;&0

fLeQAY\QS&\—O \'.\/&W\B H\O

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns. 1
Show how you figured it out. ‘ \ \ 7‘0 X @,

OO
=, 408) =552

2
0

14 « -4, b % 1350

;iﬁﬁi‘l 15 . (SO

e MO TN S \E:
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

B.440 v/

A
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3. How many times must the ¢ 1st the b1g wheel to travel 1 mile? S 1 0
(A mile is 1760 yards.) =¥ 60 in
Give your answer to the nearest 10 turns
Show how you figured it out. - ( . ) 390 ‘hJ‘s
@i 60 yods % * .
f , ,‘“Q.AM\'—S,“Q'\ 3.“\8”\633‘0 “ y 163. ":m

4. How many times does the small wheel turn when the cycle travels 1 mile? /
Give your answer to the nearest 10 turns.

Show how you figured it out. I 120 +ufn S I

e 30 /G iy |
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